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Time: 10 Minutes Paper Science 4th (T-4) Total Marks: 10

4th Month, 4th Week, Day 4 Syllabus: Unit # 6: Key Points + Exercise

Q.No.1 Encircle the correct answer from the following choices. (4x1=4)
g 6@5%/”;}/’?1..,«’.2://;4;&(}“56/)
(i) When a body changes its position, it is called::@%’i/a.l?g/gf“ if('}dfw

(a)|friction f; (b)|force u’n’ (¢)|motion ué/ (d)| gravity Cf. gf

(ii) All bodies are attracted towards the Earth due to:

gLt le S

(a)|force u’u’ (b)|friction ‘f; (c)|gravity C{ gj/ (d)| motion Ué’”

(iii) If we apply the same force on a toy car, it will travel farther on:

JG/L jﬂ.fwd J (b)@a_tﬁw;’uﬁg

(a)|rocky soil 40’3]&" /2 (b)| marble floor 4J)LJ/L
(¢)| floor of bricks 4J 3L U#1|(d)| ground /j‘ﬁij

(iv) Which machine consists of grooved wheel? ?‘adﬁdsy{ ag;bd/fu.‘.“” U’u:(

s

(a)|Lever 2 (b)| Pulley ut (c) |Inclined plane 5&’)”5 (d)|Gear /’-f

Q.No.2 Write short answers. (3x2=6) _u.‘."J .“JUY/:;

(i) Define friction.In which direction does it act? “‘L(}/Jf ufc/‘j;_u: /u_g /.’.Juﬂ}

(ii) What is machine and how does it work for us?

e dP e Sy L L

(iii) Why cannot we walk easily on ice?

02 Sty e QLT
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(i) Define friction.In which direction does it act? V‘aa/f - :/g/f - /(q;‘ /.’U/gf&?

(ii) What is machine and how does it work for us?
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(iii) Why cannot we walk easily on ice?
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